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Differenzieren / Kurvendiskussion

Losung Aufgabe 1:

(a) f'(x) =4(1 —32%)* - (—62) = —242(1 — 32°)*
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Losung Aufgabe 2:
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(a) Nullstelle zo = 5 y-Achsenabschnitt: f(0) = 1; f'(z) = —2
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Losung Aufgabe 4:

gy — 2T
() ') = = oy

2(2* +a*)? =22 -2(2” + a?) - 2z

f@) = - @+ )
2(2* + a?) — 8a?
(1’2 + a2)4

= fl/(z,)

fl@) — 0

r—+00

o)=L

a

= 0 wenn 2a* — 62° =0 = x:ii

V3

a’ f(x)

0.5—




Losung Aufgabe 5:
(a) f'(x) = 2x cos(z?)

(b) f'(x) =2sinz cosx

(¢) f'(z) = cos|a cos(bx)] - (—a)sin(bx) - b

= —ab sinbx cos [a cos(br)]

Losung Aufgabe 6:

(a) f(x) — 0 f(z) — oo f(0)=0
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(Losung von (b) und (¢) nur noch sehr schematisch)
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Losung Aufgabe 7:
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Losung Aufgabe 8:

sinh(arsinhz) = x
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